Explanation for the Steps used in Calculating the Potential spectacle users and estimated annual demand/revenue from sale of spectacles.
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1. Introduction: 

In order to know the estimated annual demand/revenue of spectacles we need to estimate potential spectacle users in the service area population. This tool will help you to calculate potential for refraction services, Gross revenue and net revenue from sale of spectacles.
2. Instructions:

In order to use the Tool you will have to input data only on the yellow color shaded area. The other areas are protected areas, which contains formula.
3. Procedure:

The first step is to apply the overall statistics of the hospital service area population to arrive at the estimated potential spectacle users and their distribution across different age groups

	Population
	 
	2,000,000

	0 - 15 years (Children)
	50%
	1,000,000

	16-40 years (young Adults)
	35%
	700,000

	40+ years (Adults & Elderly)
	15%
	300,000


Step 1: Input the service area population of your eye hospital. In the template, as an example, we have chosen two million (2,000,000) population as the service area population covered by the eye care programme.
Step 2: This estimates the population among those aged between 0-15 years. In the template it is assumed that about 50% of population is in this age group, which comes to One million (Please modify based on your place).
Step 3: This estimates the population among those aged between 16 – 40 years. In the template it is assumed that about 35% of population is in this age group (Please modify based on your place). This gives the number of persons in the age group of 16 – 40 years.
Step 4: This estimates the population above 40 years. In the template it is assumed that about 15% of population is in this age group. (Please modify based on your place). Hence, 15% of the number gives the number of persons who are in the age group 40+ years which comes to 3,00,000.
	Estimated Refractive Errors (Clinical Need) & Uptake

	 
	Est. prevalence
	Est. Uptake
	Est potential users

	0 - 15 years
	3%
	100%
	30,000

	16-40 years
	8%
	80%
	44,800

	40+ years
	80%
	50%
	120,000

	Total number of potential spectacle users
	 
	 
	194,800


Step 5: This estimates the potential spectacle users in 0 – 15 age group. This is obtained by multiplying the population in this age group with its estimated prevalence, in the template it is assumed to be 3% (Please modify based on your place) & further multiplied by estimated uptake of spectacles which is assumed to be 100% in this age group (please modify based on your place).
Step 6: This gives the estimated potential spectacle users in 16 - 40 age group. This is obtained by multiplying the population in this age group with its estimated prevalence (8%) & further multiplied by estimated uptake of spectacles (80%) (please modify based on your place).

Step 7: This gives the estimated potential spectacle users above 40 years of age group. This is obtained by multiplying the population in this age group with its estimated prevalence, in the template it is assumed to be 80% (Please modify based on your place) & further multiplied by estimated uptake of spectacles it is assumed to be 50% (please modify based on your place).

Step 8: Total number of potential spectacle users: This is the sum total of estimated potential users of all age group.

	Estimated Average Life of Spectacles
	2
	Years

	(Change in Ref. Error, breakage, Fashion, etc)

	Avg. number of spectacles owned by a person
	1
	Pairs


	Estimated Annual Demand                                                                              
	97,400


Step 9: Input the estimated average life of spectacles. The Life of spectacles depends on change in refractive error, breakage & change in fashion etc. In the template as an example Two years is taken as the estimated average life of spectacles (please modify based on your place).
Step 10: Input the Average number of spectacles owned by a person. In the template one pair is taken as an example (please modify based on your place).
Step 11: Estimated Annual Demand = Total number of spectacle users/ Estimated average life of spectacles * Average number of spectacles owned by a person. Thus Estimated Annual demand = 1, 94,800/2*1 = 97,400.
	Estimated Revenue
	%
	Consultation Charges (L.Currency.)
	Unit Price of spectacles (L.Currency)
	Unit Cost of Spectacles (L.Currency)
	Unit Cost of Consultation (L.Currency)

	Lower Income
	90%
	1,500
	4,000
	2,000
	1,000

	Middle Income (Actual Charges)
	5%
	1,500
	6,000
	3,000
	1,000

	Upper Income (Actual+Profit)
	5%
	10,000
	50,000
	30,000
	3,000


Input the percentage of different Income category. In the template as an example 90%,5% & further 5% is taken as an example for Lower income, middle income and Upper income respectively (please modify based on your place).

Consultation charges: Input the consultation charges for different Income category. In the template as an example 1500 is charged for Lower and Middle income group, 10000 is charged for Upper income group (please modify based on your Consultation charges).

Unit Price of spectacles: Input the Price of spectacles for these categories. In this template 4000, 6000 and 50000 is charged for Lower income, middle income and Upper income respectively (please modify based on your price).

Unit cost of spectacles: Input the cost of spectacles. In the template as an example 2000, 3000 and 30000 is charged for Lower, middle and Upper income respectively (please modify based on your cost of spectacles).

Unit cost of consultation: Input the cost of consultation. In the template as an example cost of consultation is 1000 for Lower and Middle income group, 3000 for Upper income group (please modify based on your cost of consultation).

Once you completed entering these data it automatically displays the Gross revenue & net revenue from consultation and sale of spectacles.

	 Estimated Revenue
	Gross Revenue (L.Currency)
	Gross Revenue $
	Net Revenue (L.Currency)
	Net Revenue $

	From Consultations
	187,495,000
	$4,166,556
	80,355,000
	1,785,667

	From Sale of spectacels
	623,360,000
	$13,852,444
	287,330,000
	6,385,111

	Total
	810,855,000
	$18,019,000
	367,685,000
	8,170,778





















































PAGE  
1


